L& PTT ST ETIEMME 1
L& Le Puy-Chadrac 1
L& Us MoNTAMAY 2
L& CHAMPAGHE TT 3

- L& REVEIL cHamBOM, 3

& |l&C.5.C. CHARWIEU 1
7 |le LE CHEYLARD TT 1
2 La AF CRAPOMME 1

19
e
16
14
14
1z
i

S S S IS S

O M W W w sk &

Lo R SN T R VR i =

ks M S (T B e A o

2323 187
219  Zo1
et | A s
213 187
194 223
201 z19
217 Z0oo
157 2432

Poule B - tourn® 1 - du
PTT ST ETIENME 1

C.5.C. CHARWIEL 1

CHAMPAGHNE TT 3 Le Puy-Chadrac 1 31 =29
US MONTANAY 2 paF CRAPCMME 1 39 21
LE CHEYLARD TT 1 REWVEIL CHAMBOM, 2 40 17

Poule B - tourn® 2 - du

Le Puy-Chadrac 1 PTT 5T ETIENKNE 1 20 20
F CRAPOMNMNE 1 CHAMPAGHNE TT 3 FO 40
REVEIL CHAMEOR. 3 LS PMOMNTAMNAY 2 =1 z29
C.%.C. CHARVYIEU 1 LE CHEYLARD TT 1 332 27

PTT 5T ETIENNE 1 WF CRAPCMME 1 33 27
CHAMPAGHME TT 2 REVEILCHAMBOM. 3 29 =1
US MOMNTAMATY 2 LE CHEYLARD TT 1 21 29
c. 5.2, CHARNIEL 1 Le Puy-Chadrac 1 25 34

REVEIL CHAMBOMN, 3 PTT ST ETIENKNE 1 23 335
LE CHEYLARD TT 1 CHAMPAGHE TT 3 =0 =0
US MONTANAY 2 C. 5.0, CHARWIEL 1 21 29
F CRAPOMME 1 Le Puy-Chadrac 1 26 4

PTT 5T ETIENNE 1 LE CHEYLARD TT 1 32 258
CHAMPAGHME TT 2 Us MOMNTAMNAY 2 26 24
Le Puy-Chadrac 1 REYEIL CHAMBOM. 3 20 20
C.5.C. CHARVIEU 1 pF CRAPCMMNE 1 32 258

Poule B - tourn® 6 - du ;

US MOMNTAMNAY 2 PTT ST ETIEMNKE 1 =0 =0 g T
CHAMPAGNE TT 3 C. 5.0, CHARWVIELD 1 32 27 g T
LE CHEYLARD TT 1 Le Puy-Chadrac 1 =0 31 g =
REVEIL CHAMEBOMN. 3 PWF CRAPCMME 1 =1 =23 ﬁ T

Poule B - tourn® 7 - du

PTT 5T ETIERNMNE 1 CHAMPAGHME TT = 26 24 i)
Le Puy-Chadrac 1 LS MONTANAY 2 31 29 o
F CRAPOMNMNE 1 LE CHEYLARD TT 1 Z6 =4 G
C.5.C. CHARVYIEU 1 REWVEIL CHAMBOM. 3 31 29 =




